Level I Answer Key Pd 3
Circular Motion

AT Circular Motiqn (21)

Directions: Solve the following problem. Show all work. Be neat. Your solution should mathematically

read like an essay. This is worth 50 points.

1) A rubber stopper of mass 23g is at the end of a 1.2 m long string. The stopper is spunina
vertical circle such that it makes 25 revolutions in 12 seconds. Determine the period of the

stopper.
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Level I Answer Key Pd 3

2) A modern Honda accord has a mass of about 1,400 kg. Determine the greatest speed that an
Accord can go through a turn of radius 35m that is banked at 15 degrees. Assume a coefficient
, of friction of 0.6 between the tires and the pavement.
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3) Determine the greatest speed that an Accord can go through a turn of radius 35m that is not

banked; the turn is flat. Assume a coefficient of friction of 0.6 between the tires and the
pavement.
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4) Determine how long it will take a satellite to orbit in a circular orbit that is 320 miles above the

surface of the Earth.
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5) Arubber stopper of mass 23g is at the end of a 1.2 m long string. The stopperis spunina
vertical circle such that it makes 25 revolutions in 12 seconds. Determine the tension in the

string when the stopper is at its highest point.
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6) A rubber stopper of mass 23g is at the end of a 1.2 m long string. The stopper is spunin a
vertical circle such that it makes 25 revolutions in 12 seconds. Determine the tension in the

string when the stopper is at its lowest point.
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